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de 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1) ¿Qué relación existe entre la crisis agraria y la modificación de la política comercial en 
el periodo 1890‐1913? 
 

 
 
 

 
 
 

2) Identifique tres factores que  justifiquen  la especialización de  la  industria española en 
ramas tradicionales 
 

 
 

 

 
 
 

3) ¿Qué implica el principio de Preferencia Comunitaria de la PAC? 
 

 

 
 

 

 
4) ¿Cómo  caracterizaría  la  elasticidad  del  empleo  respecto  del  ciclo  económico  en 

España?. ¿A qué se debe? 

 
 

 
 
 

 



5) Justifique  la  relación  existente  entre  ambas  variables.  ¿Qué  es  lo  que  ha  ocurrido 

desde 2008? 

 
Fuente: INE 
 

6) Justifique la diferente evolución del VAB nominal y real, y su relación con el  empleo, a 
lo largo del periodo. ¿Qué implicaciones tiene respecto de la productividad del sector 
servicios?. 
 

 

Índices de participación de los servicios en el VAB y el empleo, 1985‐2010 (1985=100) 

 
Fuente: INE 


